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Q:1In the given statement, relationship between

different elements is shown and it is followed by

three conclusions. Choose the correct answer on
the basis of information given below.

Statements: B>P=Q>Z<T>L>M2N
Conclusions:

LQ>T

I.M>N

.M =N

1. Only conclusion | is true

2. Only conclusion Il is true

3. Either conclusion Il or Ill is true

4. Neither conclusion | nor Il is true

Q:2 In the question given below are some
statements followed by some conclusions. You
have to take the given statements to be true even
if they seem to be at variance with commonly
known facts. Read all the conclusions and then
decide which of the given conclusions logically
follows from the given statements disregarding
commonly known facts.

Statements . Q>M <N, Q=S>A <0
Conclusions :

.LN>A

I.M<S

1. Only conclusion | is true

2. Only conclusion Il is true

3. Either conclusion | or Il is true

4. Neither conclusion | nor Il is true

Q:3 In these questions, the relationship between
different elements is shown in the statement. The
statement is followed by two conclusions. Choose
the correct answer on the basis of the information
given below.

Statements: I2H>A Q<A =P H2B,1<G
Conclusions:

)G =H

) G>H

1. Both conclusions | and Il follow

2. Either conclusion | or Il follows

3. Only conclusion Il follows

4, Neither conclusion | nor Il follows

5. Only conclusion | follows

Q:4 Which of the symbols should be placed in the
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blank spaces in the given expression so as to
make C < F and A > D definitely true?

A_B_C_D_E_F_G
1> 2 =< <<
2.>,2, =< <«
3.2,2 = < <<
4.> 2 > < <<
5. Only conclusion | follows

Q:5 Which of the following symbols should be
placed in the blank spaces respectively (in the
same order from left to rlght) in order to complete
the given expression in such a manner that both F
> N as well as ‘N < B’ definitely holds true?
B_A_N_E_F

2 <

<

v

:!_!<

4

1>
2.2
3. 2,
4. >,

5.0n Iy conclu3|on | follows

Q:6 In the given question, two conclusions and
three statements are given. You have to decide in
which statement/statements, the given
conclusions logically follow. Read the statements
and conclusions carefully and answer the
question.

Conclusions:

.M >N

.O<P

Statements:
.LP2Q2R=S5,S2L=M20,G=M2H>N
ILS>T<U<O,T>0O=L<PM>G=K<N
NMO=G=N<SP2S=L>QM>S=W«T
1. Both statements | and Il follow

2. Both statements Il and il follow

3. Both statements | and Ill follow

4. All 1, I and Il follow

5. None follows

Q:7 Find the appropriate statement for the given
conclusions:

Conclusion l: H > Y
Conclusion ll: Y < K
LH2G>J<Y<K
2K>A<U>H>Y
H2A>Y<L=K
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4 H<U2Y=K<T
5. None follows

Direction 8 - 10 : Study the following information
carefully and answer the question given below.

'P % Q means P is not smaller than Q’

‘P * Q means P is neither greater than nor equal to
Q’

'P 8 Q means P is neither smaller than nor equal to
Q’

'P $ Q means P is neither greater than nor smailler
than Q.

'P © Q means P is not greater than Q.

Q:8 Statements: H % F,F* W, W $ E

Conclusions :

LE3F

ILH3W

1. If only conclusion | is true

2. If only conclusion Il is true

3. If either conclusion | or Il is true

4. If neither conclusion | nor Il is true

B. If both conclusions | and Il are true

Q:9 Statements: P *K, K $ N, N % R
Conclusions:

LR$ K

I.R *K

1. If both conclusions | and Il are true
2.If only conclusion I is true

3. If only conclusion Il is true

4. If either conclusion | or Il is true

5. If neither conclusion | nor Il is true

Q.10 Statements: DS T, THM M * J
Conclusions:

.JoD

I.M©D

1. If only conclusion | is true

2. If either conclusion | or Il is true

3. If neither conclusion | nor Il is true
4. If only conclusion Il is true

B. If both conclusions | and Il are true
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IAnswer Key A>B2C=D<E<F<G

>A>B2C=D— A>DTrue
1. (3) 2. (2) 3. (2) 4. (1) 5. (3) =>C=D<E<F—C<FTrue
6. (3) 7.(3) 8. (1) 9. (4) 10. (4) From Option II:

A>B2C=D<E<F<G

IAnswers and Solutions =>A>B2C=D— A>DTrue

=>C=D<E<F—C<FFalse

Q:1 The correct answer is Option 3 i.e. Either From Option IlI:
conclusion Il or lll is true A2B2C=D<E<F<G
Given Statement: B>P=Q>Z<T>L>M2N =A2B2C=D— AxDFalse
Conclusion: =>C=D<E<F—C<FTrue
1.Q > T: False ( Q > Z < T, as no definite relationship From Option IV:
between the two, is given). A>B2C>D<ESF<G
Il. M > N: False (M > N) >A>B2>2C>D—A>DTrue
.M = N: False (M 2 N) = C > D < E ¢ F i.e. opposite signs between C and
Conclusion Il and Ill form complementary pairs, as F— C < FFalse
on combining >, and = signs we get 2) Clearly, Option 1 follows both conditions.
Hence, the correct answer is Either conclusion I Hence, the correct answer is >, 2, =, £, £, <.
or lllis true.
Q:5 The correct answer is Option 3ie. 2, =, <, <
Q:2 The correct answer is Option 2 i.e. Only Given:B_A _N_E_F
conclusion Il is true Expressions that should be true: F > Nand N < B
Given Statements: Q > M <N Q=S>A <O Checking the options:
Combined Statement: O > A <S=Q>M <N Option1: B> A> N2 E < F— Neither F>NnorN <B
Conclusions: holds true.
I.N > A: False (A <S=Q>M <N, as no definite Option 2:B2A2N2E<F— F > Ndoes not
relationship between the two, can be hold true.
determined). Option 3: B2 A=N<E<F—BothF>NandN<B
ILM<S:True (S=Q>M—5S>M) hold true.
Hence, the correct answer is Only conclusion Il is Option 4:B>A2N<E=F — N < B does not
true. hold true.

Hence, the correct answer is 2, =, g, <,
Q:3 The correct answer is Option 2 i.e Either

conclusion | or Il follows Q:6 The correct answer is Option 3 i.e. Both
Statements | and lll follow

Statements: I>H>A Q<A=P H2B,I<G From Statement I:

Conclusions: P2Q2R=S5S2L=M20,G=M2H>N

1) G =H: False (G212H—G2H) =>M2H>N—M>N Follows

I) G > H: False (G212H—G 2H) =P2Q2R=S2L=M20— O <P Follows

Since both the conclusions are making a From Statement Il

complementary pair, the answer will be either S>T<U<OT>O0=L<PM>G=K<N

conclusion | or Ii follows. =M > G =K < Nie. opposite signs between M and

Hence, the correct answer is Either conclusion | or I N — M > N Doesn't follow
follows. >0 =L<P— O <P Follows
From Statement lil:
Q:4 The correct answer is Option 1i.e. >, 2, =, ¢, £, < O=G=N<SP2S=L>QM>S=W<T
From Option I: =>M>S2N— M >N Follows
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=>P2S2N=G=0— O <P Follows
Clearly, Both Statements | and il follow the
conclusions.

Hence, the correct answer is Both Statements | and
Il follow.

Q:7 The correct answer is Option 3ie. H2 A>Y< L
=K

Given conclusions:

LH>Y

Y <K

Checking the options:

Option: H2G > J <Y <K — NeitherH > Y nor Y < K
follows

Option 2: K>A<U>H>Y — Only H > Y follows
Option3: H2A>Y<L=K—BothH>YandY <K
follow

Option4: H<U2Y=K<T— NeitherH >Y norY <K
follows

Therefore, the correct answerisH2A>Y <L =K.

Q:8 The correct answer is Option 1 i.e. If only
conclusion | is true

As per the given information,
.LH%FmeansH2F

2.F*W means F < W

3. W$ Emeans W =E

So, the final equation will be:

H2F<W=E

Conclusion:

ILES FmeansE > F: True (AsSF<W =E > F <E)
Il.LH3W means H > W: False (As H 2> F < W:
opposite signs are between the elements.)

Hence, the correct answer is If only conclusion I is
true.

Q:9 The correct answer is Option 4 i.e. If either
conclusion | or Il is true

As per the given information,

1.P*K means P < K

2.K$ NmeansK =N

3.N%Rmeans N 2R

So, the final equation will be:

P<K=N2R

Conclusions:

I.LR$ KmeansR =K: False (K=N2R—K2>R)
I.LR *K means R < K: False (K=N2R —K2R)
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Here, both conclusions form a complementary
pair.

Hence, the correct answer is If either conclusion | or
Il is true.

Q:10 The correct answer is Option 4 i.e. If only
conclusion Il is true

As per the given information,

1.D$ TmeansD =T

2T%MmeansT2>M

3.M*Jmeans M < J

So, the final equation will be:

D=T2M<J

Conclusions:

.LJ6DmeansJ>D:False (D=T>M<J—
opposite signs between the elements)
ILMO©DmeansM <D:True (D=T2>2M—D 2 M)
Hence, the correct answer is If only conclusion Il is
true.
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